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The email discussion on LTE measurements focused on mobility measurements within LTE, and Motorola, Nokia, Ericsson and Fujitsu participated in the discussion. The questions below were discussed.
1. What are the basic types of mobility measurement to be supported (i.e. excluding link adaptation-related metrics)?

    a. Target cell reference symbol signal to interference plus noise ratio (RS-SINR)

    b. Target cell reference symbol received signal strength indicator (RS-RSSI)

    c.  Received signal strength indicator (RSSI)

    d.  Reference symbol timing difference (RSTD) (i.e. between observable cells, including serving cell)

    e. Others? (e.g. P/S-SCH-related measures)...

Area of agreement seems to be on RS-RSSI and RSSI.
2.  For measurements on reference symbols, are only specific sets of reference symbols (e.g. R1, R2 etc.) eligible for measurement?

Area of agreement seems to be on R0 and R1. 

3. For measurements on reference symbols, which subframes transmitted by a target cell are eligible for measurement:

a. Reference symbols in all subframes are eligible 

b. Only reference symbols in subframes where there are synchronization symbols (P/S-SCH) are eligible 

c. Reference signals in all unicast subframes (i.e. excluding MCH subframes) are eligible  

(In this case, it is worth recognizing that MBSFN RS measurements might be a distinct case.)

 
Area of agreement seems to be on using all subframes.

4. What is the bandwidth of the basic measurement types? 

a. Same bandwidth as the fixed part of the BCH i.e. 72 subcarriers at the center of the band 

b. The same as the carrier or layer bandwidth 

This question seems to require some further discussion.
The table below summarises the positions expressed by the participants of the email discussion.

	Issue
	Ericsson
	Fujitsu
	Motorola
	Nokia

	1) What mobility measurements are used?
	RS-RSSI
RSSI

Possibly RS-RSSI/RSSI 
Possibly RSTD if used by HO procedure (TBD)
	
	
	RS-RSSI
Possibly RSSI
RSTD 

	2) What RS to measure?
	R0 and R1.


	
	R0 and R1 is one option
	?

	3) What subframes to measure?
	All (not looked into MCH issue yet)
	As many as possible
	
	As many as possible

	4) What bandwidth to measure over?
	Variable (indicated on BCH)
	
	
	To be investigated


